N = 0l &8 AFY Y9 AN A
2000E & = 2 3 LEEH BMEAD ~ BHSAD
SN BHSAD
M 220 UXs FUWEA AL (MY - SAIY/MARS - DEF})

Sel: XS BHEAS EERCED
2N -3 - SHA(SAH) - MEANY - BHY 0f] AboH J)[| el Hon=s2t
FNEAD 8,977,157 7,703,553 1,273,604

= 750,000 750,000 0
= 1,000,000 0 1,000,000
< 64,060 5,030 59,030
Al 7,163,097 6,948,523 214,574
320 UXls FMNEZA AL (MY - SAD|G/MARS 6,514,910 5,367,076 1,147,834
l==%-13)
= 750,000 750,000 0
= 1,000,000 0 1,000,000
[= 64,060 5,030 59,030
Al 4,700,850 4,612,046 88,804
PN D= PnkeT) 497,750 491,750 6,000
BIZNEXNFADY T2 256,000 250,000 6,000
201 LBt Y] 6,000 0 6,000
01 AL 22t 6,000 0 6,000
O1.2et22H| 6,000 0 6,000
SRR ARAA R E@—E% C A2 HE
22X 2 A2Z2102 1,500,000 *2J4 A 3,000 0 3,000
SR EXNAHE A TEEAMX| A AN E
oIl MlE2Zin2 1,500,000 %204 £ 3,000 0 3,000
st & 28lES 120, 140 113,706 6,434
(= 6,060 5,030 1,030
Al 114,080 108,676 5,404
S0t et A XA (EX) 20,200 16,766 3,434
< 6,060 5,030 1,030
Al 14,140 11,736 2,404
201 LBt Y 20,200 16,766 3,434
< 6,060 5,030 1,030
Al 14,140 11,736 2,404
01 At222lH| 20,200 16,766 3,434
O1. g2t 20,200 16,766 3,434
~EI2YAA CIMEIE (MY JeERY
) A3 20,200,0002 20,200 16,766 3,434
[~ 6,060 5,030 1,030
Al 14,140 11,736 2,404
SOty 22| 2 AUIX R =X 99,940 96,940 3,000
203 YRE=ZAH| 43,000 40,000 3,000
03 AlBEXARFAY| 43,000 40,000 3,000
OSIIotE L XEAMSBHSIAIY PR=EIH|
23 13,000,0008 13,000 10,000 3,000
THEHAI & 2 S AlAD} 25} 5,897,020 4,761,620 1,135,400
=2 750,000 750,000 0
£ 1,000,000 0 1,000,000
[= 58,000 0 58,000
Al 4,089,020 4,011,620 77,400




SN ZHSAD
M 20| YA

AHTAl AL (A - BAIIY/MATE - DE )

SOl THRHAIR & SAMI 2a3 (9l & 2
SN S(BH) - MBAY - HAS O &k o J| = o HRE2
THeHAI R & a3 2,174,362 1,146,862 1,027,500

s 1,000,000 0 1,000,000
Al 1,174,362 1,146,862 27,500
201 LBt Y| 179,591 152,091 27,500
01 At 2ty 104,791 89,291 15,500
O6.Ux& 81,500 66,000 15,500
~BELR MAHAIR LSS0 HALR
2% 350,000 *10CH*133] 45,500 30,000 15,500
02 BZ2Y| 74,800 62,800 12,000
O1.ZZQ3LHA 58,000 46,000 12,000
SADHE L HAENAT 23
2 4,000,000 %122 48,000 36,000 12,000
401 &6 20 1,821,011 821,011 1,000,000
s 1,000,000 0 1,000,000
Al 821,011 821,011 0
01 Al&H| 1,810,175 810, 175 1,000,000
ORENE F2WE(SD) 1,000,000 0 1,000,000
ML
23 1,500,000,0002 - JIF 500,000,0008 1,000,000 0 1,000,000
s 1,000,000 0 1,000,000
TeHAIE AILEHS X 271,000 267,500 3,500
402 Q12X 0| F 271,000 267,500 3,500
01 UAEEE 271,000 267,500 3,500
OZYAIF YEAIL SX| 7,000,0002 *50/100 3,500 0 3,500
HeHAIE 52T SHAL(2X) 104,400 0 104,400
= 58,000 0 58,000
Al 46,400 0 46,400
402 Q12X 0|H 104,400 0 104,400
= 58,000 0 58,000
Al 46,400 0 46,400
01 pIAX=EE 104,400 0 104,400
OZTAIE OIOIE & OfAIR HitEa
116,000, 0002 %90/ 100 104,400 0 104,400
= 58,000 0 58,000
Al 46,400 0 46,400
ATIE (MR - EAIIY/PAUSTRA) 187,944 185,244 2,700
- SIEIE 187,944 185,244 2,700
HANZME X2 187,944 185,244 2,700
202 01t 7,020 4,320 2,700
01 =UH0i ] 7,020 4,320 2,700
ORISR PAES & L AFHAIIY X
Sxgs 60,000 *3% 32 53] 2,700 0 2,700




SN

dNS&d

=

M QMR (MY - BAIIY/MANE - DEF)
el JIYH IR (S5l &2
SN EB -GS - MBAY - BES 0 & 24 p/E-T" HRE2
DIMSEI (L - ZADI/MATE - DE5H) 424,104 341,534 82,570
ISR 424,104 341,534 82,570
g 2 SIXRA 424,104 341,534 82,570
201 LByl 210,004 153,674 56,350
01 Attt 26,824 20,474 6,350
O1.2er=gH| 19,000 14,000 5,000
-2 el EXNRI 4TI ERSHE
27 10,0002 +1,3002 13,000 8,000 5,000
O6.2x& 1,350 0 1,350
SEXSXBY KB UK 450,000 *10H+33] 1,350 0 1,350
03 A2 | 180,000 130,000 50,000
OREANHESBS SHRILHS HA
28 120,000,000 120,000 70,000 50,000
202 01t 28,320 15,060 13,260
01 =Ujoi | 13,320 7,560 5,760
ORI | L HASKLHE 2 22
g ol A 60,0002 42 x32 *163] 11,520 5,760 5,760
03 2QIAL0iH| 15,000 7,500 7,500
OSEATHHEIS SHRA 22 01H|
A 2,500,0002 384 x23] 15,000 7,500 7,500
301 YBrEAZ 130,260 117,300 12,960
08 2IEIEH0iH| 22,680 9,720 12,960
OREANTEZH ANSIE 918 Hels
SXIF EH 12,960 0 12,960
-yl 10,400 0 10,400
=yl 250, 0002 *4Z x22 x43] 8,000 0 8,000
CaH 75,0002 ¥42 x22 x43] 2,400 0 2,400
~ A 2,560 0 2,560
=] 50,0002 ¥42 x2 2 x43] 1,600 0 1,600
s 30,0002 ¥42 x2 2 x43] 960 0 960
HH2SAAL (ZIMSAI) OIEHIIE) 281,528 281,008 500
2B (FRSAD]) 83,885 83,385 500
XU S EH S| 500 0 500
405 THAHE S 500 0 500
01 RMUSEH S| 500 0 500
oY= 7 500,0002 * 1CH 500 0 500
L BA HB(RELTNHNL/NHLEAI) 40,000 0 40,000
WeTA S 40,000 0 40,000
WeTA L 40,000 0 40,000
207 HPIHLHI 40,000 0 40,000




A BHSL

HE: L BA LY (RELNGNL/XSLZA)
Sl HEBA £Y)
SA-EFH - SA(SAH) - MREAY - BES Ofl &4
01 ¢S] 40,000
ONYMLBA 28 BFLTA SAY)
40,000, 00024 * 14! 40,000




